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[This question paper contains 8 printed pages.]
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(Ix)(Cx . Ax) /.. (Ix)(Cx .~Bx)

Prove the invalidity of the following by the two

individual model (any 2) :
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(i) (3x)(Bx .~Cx)

(x)(Dx o ~Cx)/..(x)(Dx o Bx)

(i) (x)(Px o ~Qx)
(x) (Px o ~Rx)/..

(iii) (Ix)(Mx . Nx)

(3x)(Mx . Ox) / .-

(x)(Rx o ~Qx)

(x)(0Ox o> Nx)

Instructions for Candidates

1.

Write your Roll No. on the top 1mmed1ately on reeewg =
of this question paper.

2. Attempt all questions.

3.  Answers may be written either m{ Lﬁ'l lish
but the same medium should be used
paper.
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1. (a) Check the validity/invalidity of the following by
truth table method : (5)

e wwon Yy gaw feefofae o Jumn/sduan @i
wita & -

(peqor
ro(Peq)/-(pvy>(p*q

OR

(pvg)Dor
ro(peq)/-(peq)>(pvq)

(b) Determine the logical status of the following :

(5)
fFrfafas o ol Rufy @ -
[((peq)or]=[pD(q21)]
OR
[P2@on]>l(p29)>(p>1)]
2. (a) Symbolise the following (any 4) : 4)

fFrafaRas = wiefewo &) &8 arR =)

(i) Either my stock portfolio is strong or I am
losing money. (P,M)

N/
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(iv) Only licensed physicians can charge for medical

treatment. (Lx, Cx)

Hae wEdE W s & ffer SEr @
Toh o FHa #1 (Lx, Cx)

(v) Reporters are present. (Rx, Px)
w=ER e Bl (Rx, Px)
(vi) Diplomats are not always rich. (Dx, Rx)

ToHiaE I IR 8 B #1 (Dx, Rx)

Construct a formal proof of validity of following

argument (any 2) : (10)

frafafaa & uar & srERe o & @ e -

(i) All mountains are neighbourly. Some outlaws are
mountaineers. Therefore, some outlaws are
neighbourly. (Mx,Nx,0x)

T TR wER ¥ wF T THaRE # e, |99
. R 1 (Mx,Nx,0x)

(i) No athletes are bookworms. Carol is a
bookworm. Therefore , Carol is not an athlete.
(Ax,Bx,c)

B.T. €.



——
-

1768 6 1768 3
7. Using Truth Tree Method to test the validity/imvalicity £ B L C U - TR Tt D T ENE T H A @
of the following : (6) < E)
g - aro fafer & ERT e g el ot Qe /s |
_ i) U t ting t h spicy food
< i . (i1) Un essvyou stop eating too much spicy food,
Ao vou will develop a stomach ulcer. (F,U)
(AeB)DC .
DV(AeB)/.. C>(DVE) K, T T NTBE SRt e v 8
) ) 8 W, W IR 9w e B WG
OR
(iii) Books are expensive yet interesting. (B,I)
AD~B
~CoAfs Bl oo Wt ® fe o Remrw )

8. Translate the following into the logical notation of (iv) You will be elected if you campaign hard.

propositional functions and quantifiers, using -he (E,C)

abbreviations suggested (any 5): (5 .
AT g TR AT AT FwE Az T B

RAnTeR GET 3N WAR T Wil @ WA aRd g

et 38 3 Tl il o i =% (v) It is not the case that Mark is both a poet

‘ and a dancer. (P,D)
(i) Acids aad bases are chemicals. (Ax, Bx, Cx) _ .
a8 el FE 2 T W @ sk ade oA 8
I IR &r @ET B (Ax, Bx, Cx) ) )

(b) Determine the validity/invalidity of the following

(i) The common cold is never fatal. (Cx, Fx)
by shorter truth table method : (5)

aEF @@ W a8l e (Cx, Fx)
o gegar aroh faft grr Feafefem @ v/ s

frue =X -

(ili) Not any applicant was hired. (Ax, Hx)

T W arew @ gl w8 @ T (A, Hxa
P.T.O.
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1V~)
~(~ KoL)
~(~le~L)/). ~1DK

OR

A=(BVC()
B=(CVA)
C=(AVB)
~A /. BVC

(a) Rewrite the following in terms of Stroke
Function : (3)

frfofaa =t wiw wom o fofag -
P So=g) 8

(b) Define ~p > (~q v r) in terms of negation and
dot. (3)

~po(~qvr) & Ry (~) 3k FEem () ¥ qRafe
Fifor

Construct a formal proof of validity of any one of the
following : @)

Frefofaa & srerRes W &Y T SR (RS Ue)

@) PoA
Q>B /.. (PvQ)>(AvB)
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() (SVT) (s> ~T)
(S ~T)>(T2K)
SVT /.. SvK

Construct a conditional proof of validity for following
argument : (6)

Fferas =1 |t o SR -

AD[B>(Ce~D)]
(BvE)>(DVE)
/- (A*B)D(C*E)

OR
Co> (AeD)
Bo (AeE)/.. (CVB)DA

Construct an indirect proof of validity for following
argument : (6)

Fafofas =1 sweae v SR -

(RVS) ST
(PVQ)ST
RVP/-.T

OR

Ho (LoK)
Lo (Ko~L)/.. ~Hv~L

P. 1.0



